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s= k|yd rf}dfl;s cfof]hgfx?

!=	 5fq–5fqfx?nfO{ z}lIfs ;fdfu|L ljt/0f ug{ ?=2,00,000÷–

@=	 dlxnf tLh laz]if sfo{qmd ?=20,000÷–

#=	 ljkb\ Joj:yfkg sfo{qmd ;~rfng ug{ ?=1,00,000÷–

$=	 :yfgLo tYofÍ tyf clen]v Joj:yfkg ?=60,000÷–

%=	 rf}sL x'Fb} vf]/ d[u] lj;f}pg] hfg] df]6/af6f ?=2,00,000÷–

^=	 wf/f8fF8f h'/] n]s h'/]e~hofª df]6/af6f] lgdf{0f ?=4,00,000÷–

&=	 cfxfn8fF8f uxt] 9'Ëf hf]8\g] df]6/af6f]  ?=3,50,000÷–

*=	 ljleGg df]6/af6f] dd{t ug{ ?=4,00,000÷–

(=	 3nfg6f]n x'Fb} rGbgk'/ hf]8\g] df]6/af6f] ?=2,00,000÷–

!)=	kftnjg x'Fb} wf/f8fF8f hf]8\g] df]6/af6f] ?=1,00,000÷–

!!=	h]i7 gful/s ;Ddfg sfo{qmd ;~rfng ?=1,50,000÷–

	 klxnf] rf}dfl;s cfof]hgf ah]6 hDdfM ?= @!,*),)))÷–

v= bf];|f] rf}dfl;s cfof]hgfx?

!=	 s[lif cjnf]sg e|d0f ?=2,50,000÷–

@=	 ;fljs j8f g+= ^ sf] lrx|fgkf6L lrQf lgdf{0f ?=50,000÷–

#=	 o'jf tyf v]ns'b ?=80,000÷–

$=	 jftfj/0f kmf]x/d}nf 9n Joj:yfkg ?=1,00,000÷–

%=	 ;"rgf kf6L lgdf{0f ?=1,00,000÷–

^=	 kl~hs/0f Joj:yfkg tyf sDKo'6/ tflnd ?=40,000÷–

&=	 cnf} kf]n;L df]6/af6f] lgdf{0f ?=3,00,000÷–

*=	 l;d vf]skfvf] x'Fb} gsg8f]n hfg] df]6/af6f] ?=1,50,000÷–

(=	 l;d vf]nfuf]7 kw]/]8fF8f vs{ e~HofË df]6/af6f] ?=2,50,000÷–

!)=	l;/fgL uf]7 x'Fb} sfnLb]jL dlGb/ hf]8\g] df]6/af6f] ?=3,00,000÷–
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!!=	rf}/LaNsf]rf}/ wfld8fF8f hf]8\g] df]6/af6f] ?=3,50,000÷–

!@=	dfªd'ª df]6/af6f]?=2,00,000÷–

	 bf];|f] rf}dfl;s cfof]hgf ah]6 hDdfM ?= @!,&),)))÷–

u= t];|f] rf}dfl;s cfof]hgfx?

!=	 ls;fgx?sf] cfocfh{g sfo{qmd ?=1,50,000÷–

@=	 If]kf/L8fF8f x'ª\l;Ëvf]nf gofF 6«ofs lgdf{0f ?=2,00,000÷–

#=	 nfdf;f]lt kw]/fx'Fb} uxt] 9'Ëf hf]8\g] df]6/af6f] ?= 2,50,000÷–

$=	 nfdf;f]tL b'wLnfaf]6 x'Fb} b'nfn6f]n hf]8\g] df]6/af6f] ?=1,00,000÷–

%=	 ub{'d w/fk x'Fb} l;d6f/ hf]8\g] df]6/af6f] ?=2,00,000÷–

^=	 l;/rf}/ x'Fb} sfhLdfgsf] vfon hfg] df]6/af6f] ?=2,00,000÷–

&=	 e}k/L cfpg] ljljw sfo{qmd ;+rfng ug{ ?=5,50,000÷–

	 t];|f] rf}dfl;s cfof]hgf ah]6 hDdfM ?= !^,%),)))÷–


